Math 335
Pre-Course Basic Skills

1. Use the Pythagorean Theorem to explain why a triangle with sides of length 3, 4 and 5 can form a right triangle. 
2. Radicals vs. Quadratic Equations.

a.       
i.
Simplify
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ii.
Solve
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3. Graph 
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a. Label each of the following functions as shifting up, down, right or left 1 unit from the base function?
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4. Given the relation
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a. Is this relation a function?  Why?

b. What is the domain and range?
c. Find the inverse and graph.  Is the inverse a function?
5. Identify the corresponding angles of these similar triangles.
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6. The following are similar triangles.  Find x.
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a =  13 ; b =  12 ; c =  5 ; d =  26 ; e =  24

7. Classify the triangles by angles as acute, right or obtuse and by sides as equilateral, isosceles, or scalene. 
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8. The following is a 30-60-90 right triangle.  First label the 30, 60, and 90 degree angles.  Then answer the a – c.



a. If a = 1 find b and c.

b. If c = 6 find a and b.

c. If b = 
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 find a and c.
9. The following is a 45-45-90 right triangle.  First label the 45, 45 and 90 degree angles.  Then answer a – c. 



a. If a = 5 find b and c.

b. If b = 3 find a and c.

c. If c = 
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 find a and b.

10 - 11.  Some of you may have been introduced to the basic trig functions in Geometry, some may not.  If this looks familiar please give it a shot.  I will survey the class the first day to see how many have knowledge of these concepts.  

10. The following is a right triangle.  
Find the exact value of sin θ, cos θ, tan θ.





11. Fill in the missing values.  Answers must be exact.  No decimals.  Hint:  #8 and #9 can help with this.
	Degrees
	Tan
	Sin
	Cos

	0
	
	
	1

	30
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